Kansas Corporation Commission Oil & Gas Conservation Division

Form ACO-1 September 1999 Form Must Be Typed

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE *

5214 Operator: License # Lario Oil & Gas Company Name: Scott County: ` 301 S. Market Street Address: ____sw_nw_Sec. 10 Twp. 47 S. R. 31 Deast West Wichita, KS 67207 City/State/Zip: feet from S (N)(circle one) Line of Section Link Purchaser:_ 570 feet from E (W) (circle one) Line of Section Operator Contact Person: Jay G. Schweikert Footages Calculated from Nearest Outside Section Corner: RECEIVED Phone: (316) 265-5611 (circle one) NE SE (NW Contractor: Name: L.D. Drilling, Inc. Lease Name: _Schoonover Trust IAN 1 3 2004 Well #: 1-10 6039 License:___ Field Name: Curtis E. Covey Wellsite Geologist: _ Producing Formation: Cherokee Group Designate Type of Completion: Elevation: Ground: 2919 Kelly Bushing: 2924 New Well Re-Entry Total Depth: 4700 Plug Back Total Depth: 4654 __ Workover _____ SWD _____ SIOW Amount of Surface Pipe Set and Cemented at 382 Feet Gas __ ENHR ____ SIGW Multiple Stage Cementing Collar Used? ___ Other (Core, WSW, Expl., Cathedia Yes No _ Dry 1742 If yes, show depth set ____ If Workover/Re-entry: Old Well Info as follows: If Alternate II completion, cement circulated from Surface Operator: feet depth to 3050 _{w/} 1000 Well Name: ___ Alt 11 Up 4.30.04 Drilling Fluid Management Plan Original Comp. Date: _____ Original Total Depth: (Data must be collected from the Reserve Pit) Deepening ___ Re-perf. Chloride content 16,000 ppm Fluid volume 1700 bbls _Plug Back Total Depth _ Plug Back_ Dewatering method used evaporation __ Commingled Docket No ._ Location of fluid disposal if hauled offsite: Dual Completion Docket No. _ Other (SWD or Enhr.?) Operator Name: Docket No._ License No.:____ 9/17/03 9/26/03 11/18/03 Spud Date or Date Reached TD Completion Date or Recompletion Date Recompletion Date _ Docket No.: INSTRUCTIONS: An original and two copies of this form shall be filed with the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information of side two of this form will be held confidential for a period of 12 months if requested in writing and submitted with the form (see rule 82-3-107 for confidentiality in excess of 12 months). One copy of all wireline logs and geologist well report shall be attached with this form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with all temporarily abandoned wells. All requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and or rect to the best of my knowledge Signature:_ **KCC Office Use ONLY** Operations Engineer Date: Letter of Confidentiality Attached Subscribed and sworn to before me this 12 th day of January If Denied, Yes Date:__ **16** 2004 Wireline Log Received KATHY L. FORD **Geologist Report Received** Notary Public - State of Kansas **UIC Distribution** Date Commission Expires:

ested, time togl, ope emperature, fluid re	n and closed flowing covery, and flow rate	and base of formations p g and shut-in pressures, s if gas to surface test, final geological well site	, whether sh along with fi	ut-in pres	sure reached	d static level, hydro	ostatic pressu	res, bottom hole
Drill Stem Tests Take		Yes No		√ Lo	g Forma	tion (Top), Depth a	and Datum	Sample
Samples Sent to Ge	,	✓ Yes No		Name			Тор	Datum
Cores Taken	ological Culvey	Yes No		Tope	ка		3668	-744
lectric Log Run (Submit Copy)	٦	✓ Yes No		Heeb	ner		3901	-977
ist All E. Logs Run:		-11/5	O	Pawn	ee		4428	-1504
		RECEIVE	-01:	Cher	okee		4474	-1550
GR-CNL/LDT-P	E-DIL-Micro	RECEIVE JAN 1 3 ' KCC WI' Report all strings sets	2004 CHITA	Missi	ssippian		4590	-1666
		CASING Report all strings set-	RECORD conductor, sur	✓ New	harman .	ction etc	1	
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig	ht	Setting Depth	Type of Cement	# Sacks Used	Type and Percen Additives
Surface	12-1/4"	8-5/8"	23		382	60/40 Poz	225	2% gel+3% C
Production	7-7/8"	4-1/2"	10.5		4700	Common	140	FLA+Salt+1/4
Port Collar					1742	60/40 Poz	450	6%gel+1/4# C
		ADDITIONAL	CEMENTIN	G / SQUE	EZE RECOR	D		
Purpose: Perforate	Depth Top Bottom	Type of Cement	#Sacks U	Jsed		Type and F	ercent Additives	S
Protect Casing Plug Back TD	900-901	60/40 (Poz/Com)	350		6% gel + 1/2# Flo Seal			
Plug Off Zone	Bradenhead	60/40 (Poz/Com)	200	6% gel + 1/4# Flo Seal				
Shots Per Foot	Shots Per Foot PERFORATION RECORD - Bridge Plugs Set/Type Acid, Fracture, Shot, Cement Squeeze Record Specify Footage of Each Interval Perforated (Amount and Kind of Material Used) Depth							
4	4506' - 4510'				750 gal 15°	% NEFE (HCL)		4506-10
4	4543' - 45' & 45	54' - 58'	-		1250 gal 1	5% NEFE		4543-5
			1					
TUBING RECORD 2-3	Size 3/8"	Set At 4626	Packer At		Liner Run	Yes No		
V. 1	Production, SWD or Er			Flowing	✓ Pump	ing Gas Lif	t Oth	er (Explain)
Estimated Production Per 24 Hours	0il 52	Bbls. Gas	Mcf	Water			ias-Oil Ratio	Gravity
	02	101101	1		U	IN	~	31.0



ORIGINAL

Well

SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129

Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

Invoice

Bill to: JAN 12

LARIO OIL & GAS P.O. Box 784 Hays, KS 67601 CONFIDENTIAL

JAN 1 3 2004

KCC WICHITA

Invoice	Invoice Date	Order	Order Date
309093	9/26/03	6635	9/17/03
	Service Des	cription	
ement - Sc	arface casino	\	

<u>1D.</u>	Description	<u>UOM</u>	<u>Ouantity</u>	<u>Unit Price</u>	<u>Price</u>
D203	60/40 POZ (COMMON)	SK	225	\$7.84	\$1,764.00 (T)
C310	CALCIUM CHLORIDE	LBS	576	\$0.75	\$432.00 (T)
C194	CELLFLAKE	LB	48	\$2.00	\$96.00 (T)
F163	WOODEN CEMENT PLUG, 8 5/8"	EA	1	\$85.00	\$85.00 (T)
F103	CENTRALIZER, 8 5/8"	EA	3	\$90.00	\$270.00 (T)
E107	CEMENT SERVICE CHARGE	SK	225	\$1.50	\$337.50
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	110	\$3.25	\$357.50
E104	PROPPANT / BULK DELIV SERVICES/TON MILE, \$200 MIN	TM	1056	\$1.30	\$1,372.80
R201	CASING CEMENT PUMPER, 301-500' 1ST 4 HRS ON LOC.	EA	1	\$704.00	\$704.00

Sub Total:

\$5,418.80

Discount:

\$1,642.64

Discount Sub Total:

\$3,776.16

Scott County & State Tax Rate: 6.30%

/m

3,770.10

(T) Taxable Item

Taxes: Total: \$116.21 \$3,892.37

FROM CONFIDENTIAL

Moralliett mit

Acci Expl. File

OCT 1 4 2003

AN LEKELLEY I. S

CUNFIDENTIAL

SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX

SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX

SALES & SERVICE OFFICE:

1700 S. Country Estates Rd. PO. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

KCC

Invoice

Bill to:	JAN 12 2004	5138010	Invoice In 309138	9/30/03	Order 6640	Order Date 9/27/03
	LARIO OIL & GACONFIDENTIALIV	ED -	307130	Service Desc		9/2//03
,	P.O. Box 784 Hays, KS 67601 JAN 1 3 1 KCC WIC	2004 C	ement ~ Lone		,	
	KGC MIC		Le	ase		Well
			Schoo	onover		1-10
AF		r	Well Type	Purchase Ord	er	Terms
03-0	B. Sauder S. Frederick	N	ew Well			Net 30
<u>ID.</u>	<u>Description</u>	<u>UO</u> N	<u> 1</u> Quanti	ty Unit Price	e	Price
D205	AA2 (COMMON)	SK	. 14	0 \$13.19		6.60 (T)
D203	60/40 POZ (COMMON)	SK	2	0 \$7.84		6.80 (T)
C195	FLA-322	LB	10	5 \$7.50	\$78	7.50 (T)
C221	SALT (Fine)	GAL	74	2 \$0.25	\$18:	5.50 (T)
C194	CELLFLAKE	LB	3	5 \$2.00	\$70	0.00 (T)
C302	MUD FLUSH	GAL	50	0 \$0.75	\$375	5.00 (T)
F230	FLAPPER TYPE INSERT FLOAT VALVE 4 1/2"	ES, EA		1 \$150.00	\$150	0.00 (T)
F100	TURBOLIZER, 4 1/2"	EA		6 \$67.00	\$402	2.00 (T)
F142	TOP RUBBER CEMENT PLUG, 4 1/2"	EA		1 \$55.00	\$5.5	5.00 (T)
F190	GUIDE SHOE-REGULAR, 4 1/2"	EA		1 \$125.00	\$125	` '
C141	CC-1, KCL SUBSTITUTE	GAL		8 \$40.00	\$320	0.00 (T)
F260	CEMENT PORT COLLAR, 4 1/2"	EA		1 \$2,700.00	\$2,700	0.00 (T)
F800	THREADLOCK COMPOUND KIT	EA	2	2 \$30.00	\$60	0.00 (T)
R701	CEMENT HEAD RENTAL	EA		\$250.00	\$250	0.00
E107	CEMENT SERVICE CHARGE	SK	160	\$1.50		0.00
E100	HEAVY VEHICLE MILEAGE - 1 WAY	MI	110	\$3.25	\$357	7.50
E104	PROPPANT / BULK DELIV SERVICES/T MILE, \$200 MIN		810	\$1.30	\$1,060	0.80
R210	CASING CEMENT PUMPER, 4501-5000' 4 HRS ON LOC	4	ARC	\$1,827.00	\$1,827	7.00
٠	Acci Lope Bos	OK:01	W)	Sub Total:	\$10,968	.70
	Tologolett int	((/	Discount:	\$4,153	Chapter 1
	OCT al	1 ~ 2003 · ~	Discou	nt Sub Total:	\$6,815	.34

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182

(T) Taxable Item

OST stort County & State Tax Rate: 6.30%

Taxes:

Total:

\$283.15

\$7,098.49

ALLIED CEMENTING CO... INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID#

ORIGINAL

RECEIVED

JAN 13 2004 Invoice Number: 0914

KCC WICHITA Invoice Date: 11/06/03

Lario Oil & Gas Company To: P. O. Box 784

KCC JAN 1 2 2004

CONFIDENTIAL

Cust I.D....: Lario

P.O. Number Schoonover Trust #1

(Completion)

AFE #03-077

Hays, KS 67601

Due Date:: 12/06/03 Terms...: Net 30

CAT SECT THE SECTION OF STREET STREET	WAS A CONTRACTOR OF THE CONTRA			
Item I.D./Desc.	Oty. Used	Unit	Price	Net
Common	270:00	SKS	8.3500	2254.50 т
Pozmix	180200	SKS	3.8000	684.00 T
Gel	23.00	SKS	10:0000	230.00 T
FloSeal	113.00	LBS	1.4000	158.20 T
Sand	2.00	SKS	5.7500	여러 시간하는 얼룩 그렇는 얼룩 보는 없는 것이다.
Handling	450 00 COM	SKS	1.1500	
Mileage (50)	griddin i reasarraidheal aige laidh San Gan aig an air ag leann air ag leann ag lean	**************************************	22:5000	517.50 E
450 sks @s 05 r	oer sk per mi		~ `ZZ.DUU\` ###################################	1125.00 E
Port Collar			Salaria da Lada da La	The triplet of the second of the second of the
Mileage pmp trk		Control of a control of the control of the control of	630.0000	630.00 E
*** Time eagle ** Dillp*** CT K***	s a si sus la partir 50 c 00 mar difference significant	FEST MITTE	3.5000	175.00 E
		เสาร์สา (ป. 1) น. เป็นสุดน้ำรูนไ	X St. of the loss of the last	and a substitute of the substi
A STATE OF THE PARTY OF THE PAR	The state of the s	till til store og til store og til store og til store og til som en til som e		
ALL PILCES Are Ne	t. Payable 30 Days Foll	owing Subt	otal:	5785.70
Date of Involve	1 1 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2			3/03.70

e of Invoice. 1 1/2% Charged Thereafter. Tax.. If Account CURRENT take Discount of \$578.57 Payments: ONLY if paid within 30 days from Invoice Date Total ...

RELEASED

FROM CONFIDENTIA

NOV 10 2003

ALLIED CEMENTING CO., INC.

P.O. BOX 31 FIUSSELL KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID#

DRIGINAL

RECEIVED Invoice Number: 091497

JAN 1 3 2004 Invoice Date: 11/06/03

KCC WICHITA

Lario Oil & Gas Company

To: P. O. Box 784 Hays, KS

67601

KCC JAN 12 2004

CONFIDENTIAL

Cust I.D....: Lario

P.O. Number Schoonover Trus + # \
P.O. Date 11/06/03

(Completion)

AFE#03-072

Due Date:: 12/06/03 Terms...: Net 30

Qty. Used	Unit	Price	Net
and the state of t		Surgeon to the most single comment the light in bush .	
		- なんがじ さんにんぎしょう しゅうわたい なとく ご どと とれいいがり	1920.50 T 456.00 T
		[4	150:00 T
150.00			
350.00	SKS	1.1500	402.50 E
	MILE	17.5000	875.00 E
er sk per mi	TOR 4	630 0000	630.00 E
	MILE		175.00 E
		• •	
and the state of t	and the second of the second o	e contra en la companya de la presenta de la companya de la companya de la companya de la companya de la compa	TO STORY SERVICE AND A CONTROL OF THE SERVICE
	1.7、16.75年前4.16、16.20年16.16.16.16.16.16.16.16.16.16.16.16.16.1	deter in Grand in variety of professional deal of determinent translations and deal filter in difference	4819.00 172.40
		트립 시청에 가게 많이 그렇게 얼마난 시작에 사회 역사를 했다.	88 ACK PERSON A LANCE LITTLE AND A LANCE A
		(1) (3.5) (3.8) (4.7) (3.8) (3.8) (3.8) (3.6) (3.8)	4991.40
જુરો હતું. આ પ્રાથમિક મુક્કારે જુરેલે કરા છે. જિલ્લા મુખ્યાની એક કેટ માન જુરેલા માં આવે છે. આ પાસના કેટ છે છે જુરો હતું કે આ પ્રાથમિક મામ કેટ જુરેલા છે. જિલ્લા મુખ્યત્વે અને કેટ માન જુરેલા માં આવે છે. આ પ્રાથમિક જેટ જેટ	क्षेत्रपुर क्षां १९८५ केना ५ १० एक्ट स्ट्रीन स्वर्थ करेते हैं। १९७ का व्यक्त स्ट्रीन स्ट्रीन स्ट्रीन स्ट्रीन स	n de la company de la comp O la company de la company	
Car holes a	100 064	Not we	ACP
	5pt		VA
	230.00 120.00 15.00 150.00 50.00 et, Pavable 30 Days Foll 1.1/2% Charged Thereaft T take Discount of \$48 in 30 days from Invoice	230.00 120.00 SKS 15.00 SKS 150.00 SKS 150.00 SKS 185 SKS 50.00 MILE Der sk per mi 1.00 JOB MILE Tobact, Payable 30 Days Following Subt 1.1/2% Charged Thereafter. Tax. IT take Discount of Subject Payments 30 days from Invoice Date Total	230.00 SKS 8.3500 120.00 SKS 3.8000 15.00 SKS 10.0000 150.00 SKS 1.1500 350.00 SKS 1.1500 50.00 MILE 17.5000 oer sk per mi 1.00 JOB 630.0000 50.00 MILE 3.5000 et, Payable 30 Days Following Subtotal: 1.1/2% Charged Thereafter. Tax: Trake Discount of SAS/P Payments: in 30 days from Invoice Date Total:::

RELEASED

MARY 13 Table FROM CONFIDENTIAL

NOV 10

11-7-03

ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 ¹PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID#

Invoice Number: 091516 JAN 13 2004

KCC WICHITA Invoice Date: 11/11/03

Sold Lario Oil & Gas Company To: Box 784

Hays, KS 67601

JAN 12 77

CONFIDENTIAL

(Completion) AFE #03-072

Cust I.D... Lario
P.O. Number. Schoonover Trust #

P.O. Date ... 11/11/03

Due Date:: 12/11/03 Terms...: Net 30

Item T.D./Desc	Oty. Used	Unit	rice	Net
200 sks @\$:: 05	120.00 80.00 10.00 50.00 200.00 50.00 per sk per mi	ં ઉત્પર્વાળ પુત્રા કરવાના છે. આ આપવાના પ્રાથમિક પ્રાથમિક પ્રાથમિક પ્રાથમિક પ્રાથમિક પ્રાથમિક પ્રાથમિક પ્રાથમિક આ પ્રાથમિક	8.3500 3.8000 10.0000 1.4000 1.1500	1002.00 I 304.00 I 100.00 I 70.00 I 230.00 E 500:00 E
Pump Truck Mileage pmp trk	50.00	to water you MILE proceeding	630.0000 3.5000	630.00 E 175.00 E
If Account CURR	Net, Payable 30 Days For L. 1/2% Charged Thereaf ENT take Discount of \$3 thin 30 days from Invoice	ter. Tax		3011.00 92.99 0.00 3103.99
14	thin 30 days from Invoice 1/03 Som Braden (after CBU)	Mead; wriness	py Kevin Stri	EASED
	Acc. Expl. File NOV 2 1 2003	30.81-11	2-FROM CO	NFIDENTIAL
•	CO WE COV SE DW			